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SIHAHAE 20184

Gll&FXb== 0 204

AHFE - SAES|

OPN=EINE= cHol X9
ol A = & A g|

8 = 40l B Eaplom =2 & = HACX S =2

= A 305,940 304,991 949 | &t 305,940 304,991

Hel3a 0 0 0| HISRA 4,000 4,000

BE2 0 0 0| SXAEA 0 0

a3 0 0 0|cleed 0 0

o eeeny 0 0 0|21=23Y 0 0

NESR33% 0 0 0|2 300,000 0

OIXI 23] 301,571 301,001 480 | Ol XI 2 1,940 300,991

ES= 0 0 0| a2 0 0

Ol Xtz=2 4,369 3,900 469 | Ol 522 0 0

JIEtE 0 0 0| JIEHKIZ 0 0
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SIHAE 20184
Gl&EXb o 204t
2HF= ¢ SAEEDIS

@ 29/72 (Sl &)
FpEs %-0lo Ty = o B
=2l

200 MI2l% 929 3,900 2,971
210 ZATA 242 929 3,900 2,971
216 OlXt4l 929 3,900 2,971
216-01 SZ0IS0IX+L 929 3,900 2,971

OZZ302 OlXt==L 929,000& = 929
700 BESASULE Y 305,011 301,091 3,920
710 BESUS 301,571 301,001 480
714 OIXI33|% 301,571 301,091 480
71401 0IXI23l% 301,571 301,091 480

OuXx=z 2= 301,571,000& = 301,571
720 LA D4 2N 3,440 0 3,440
722 OIE2L0I52 3,440 0 3,440
722-04  OIE20IX42 3,440 0 3,440

OUIEZ 01X+ 3,440,008 = 3,440
+ o g A 305,940 304,991 949
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Oll &FXb= 0 =0l A
A2 - =EANEEIZ
® XNEHE CCR.
IR .22 .. O - APAY - BES A& HACK| S HlmE2t
SXIH 305,940 304,991 949
FHoAHSIA 305,940 304,991 949
SXHM 25 4,000 4,000 0
SXESI|IS(2XNEEDIZ) 4,000 4,000 0
MASKS &2 X2 4,000 4,000 0
301 LB AZ 4,000 4,000 0
® me2usT 4,000 4,000 4,000 0
omstz Xz 400,0002+10% = 4,000
WRES(SXEFM) 301,940 300,991 949
BES(2XNREIB) 1,940 300,991 A299,051
SX=2 ol 1,940 300,991 A299,051
602 0 XI2 1,940 300,991 A299,051
ol ox= 1,940 1,940 300,991 £299,051
OuIxI= 1,940,002 = 1,940
WHEAHAXE (2R HEDIZ) 300,000 0 300,000
L= eH K = 300,000 0 300,000
704 OIS 300,000 0 300,000
0l o= 300,000 300,000 0 300,000
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Gl&EXb o 204t
2HF= ¢ SAEEDIS

(S &JH)
24 9 & & o

O:‘Et” (=] S TIA T = A9 EOH

T He | moe=2 | g2xz | o= | R | a2 Ol Xt JIEt H ©® HIEXS | SAd | pmzau | A3V | 022 | JIEL | (@-D)
== | e =S| (oIRzg) TS Aol ENe]| ARIHL | AFH| | ¥ 21E3d | 2l3ake | 2i3aE | KIS

20124 DX 682,583 300,000 0 0 0 0 382,583 0 379,712 379,400 0 0 0 0 312 302,871
20139 &= 9,387 0 0 0 0 0 9,387 0 10,500 10,500 0 0 0 0 0 21,1138
201449 & 8,208 0 0 0 0 0 8,208 0 9,000 9,000 0 0 0 0 0 ATR
201549 & 6,444 0 0 0 0 0 6,444 0 6,600 6,600 0 0 0 0 0 2156
201649 &= 5,103 0 0 0 0 0 5,103 0 4,800 4,800 0 0 0 0 0 303
20179 % 4,458 0 0 0 0 0 4,458 0 4,000 4,000 0 0 0 0 0 458
20189 & 4,369 0 0 0 0 0 4,369 0 4,000 4,000 0 0 0 0 0 369
A 720,552 300,000 0 0 0 0 420,552 0 418,612 418,300 0 0 0 0 312 301,940

_53_




_54_

|12 al (ErD
4. OiIxl= & OIE= EAl
SHAE 20184
Oll&ERb== 0 20l
3 2 SANEEDIS
| Al PSP (crol: )
OIXI 2 ol
22 01 XI(=) A bl
2016 =S H 017HELSHTHH@ 2018 =LSHTHHD EE(OZ6))
Bl 301,113 301,571 301,940 369
Xz B 301,113 301,571 1,940 A299,631
=8 301,113 301,571 1,940 A299,631
HE= ] 0 0 300,000 300,000
s2eI3 0 0 300,000 300,000




